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1 public class App {
2 public static void main(String[] args) {
3 int[] data = {3, 11, 14, 6};
4 J/twosSum (data, 9);
5 twoSum(data, 18);
G }
public static void twoSum(int[] arr, int num) {
int yes = -1;
1 for (int i = 0; i < arr.length - 1; i++) {
11 for (int J = 1 + 1; J < arr.length; Jj++) {
12 if (arr[i] + arr[j] == num) {
13 System.out.println(i + ™ ™ + J);
14 yes = 1;
15 break;
16 H
17 }
18 }
19 if (yes == -1) {
20 System.out.println("None™);

21 }
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def loopcs(aa, rr, nn):LOOP/Recursive python methods

if (isinstance(aa,int) or isinstance (aa,float)) and \
(isinstance(rr,int) or isinstance(rr,float)) and \
(isinstance(nn,int)):
if (nn>=0):
result=0
for ii in range(0, (nn+l)):
result = result + aa*(rr**ii)
else: result = None
else: result = None
return result

def recursiveGS (aa, rr, nn):
if (isinstance(aa,int) or isinstance(aa,float)) and \
(isinstance(rr,int) or isinstance(rr,float)) and \
(isinstance(nn,int)):
if (nn<0): return None
else:
if (nn==0): return aa
else: return (aa*(rr**nn)+recursiveGS(aa,rr,nn-1))
else: return None

Loop/Recursive python test prog.

print ("\n===== Loop geometric series")

print ("GS (a=0.5, r= 2, n= 5 ——>", loopGS (0.5, 2, 5))
print("Gs (a= 2, r= -2, n= 5 -->", loopGS( 2, -2, 5))
print("GS (a= 1, r= 'a', n= 5 -->", loopGS( 1, 'a', 5))
print("Gs (a= 1, r= 2, n= -1 -->", loopGsS( 1, 2, -1))
print ("\n===== Recursive geometric series")

print("Gs (a=0.5, r= 2, n= 5 —-->", recursiveGs(0.5, 2, 5))
print("GS (a= 2, r= -2, n= 5 -->", recursiveGS( 2, -2, 5))
print("Gs (a= 1, r= 'a', n= 5 -->", recursiveGs( 1, 'a', 5))
print("GS (a= 1, r= 2, n= -1 ——>", recursiveGs( 1, 2, -1))
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print("GS (a=1,r=a,n=5 -->", loopGS(1, 1, 5))
print("GS (a=1,r=a,n =5 -->", recursiveGS(1, 1, 5))
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==== Loop geometric series
GS(a=0.5,r=2,n=5->31.5
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GS(a=2,r=-2,n=5-->-42
GS(a=1,r=a,n=5->6
GS(a=1,r=2,n=-1-->None
==== Recursive geometric series
GS(a=05r=2,n=5-->31.5
GS(a=2,r=-2,n=5-->-42
GS(a=1,r=a,n=5->6
GS(a=1,r=2,n=-1-->None
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(lass Recora ¢ 4 7K B8 (B =1i] classes

String date, mCode, type;

Record(){}

Record(String dd, String mm, String tt) { date=dd; mCode=mm; type=tt; }
} // End of class MedicalInstitution

abstract class VaccinePassport extends Record{
ArrayList<Record> records = new ArraylList<Record>();
void addVaccinePassport(String dd, String mm, String tt) {
records.add(new Record(dd, mm, tt));

}
String printRecord() {
String ss = "";
for (Record rr : records)
ss += (" --> " 4+ rr.date + " " + rr.mCode + " " + rr.type + "\n");

return ss;
} // End of printRecord()
} // End of class VaccinePassport

class MyVaccinePassport extends VaccinePassport {
String ID = "A@©@0", name="AAAA";
MyVaccinePassport(String ii, String nn, String dd, String mm, String tt) {
super();
ID = ii;
name = nn;
addVaccinePassport(dd, mm, tt);
} // End of Constructor
void printMyRecord() {
System.out.println("Dear " + ID + ", " + name + "\n" + printRecord());
} // End of printMyRecord()
} // End of class MyVaccinePassport

import java.util.ArraylList;

//===== Main Entrance OOP test program

public class TestOOP_1 {

public static void main(String[] args) {
// TODO Auto-generated method stub
MyVaccinePassport myVP;
myVP = new MyVaccinePassport("A1234", "Mary", "2021/10/14", "meee1i", "AZ");
myVP.addVaccinePassport("2021/11/24", "meee2", "MO");
myVP.printMyRecord();

}

} // End of TestOOP
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-->2021/10/14 m0001 AZ
-->2021/11/24 m0002 MO
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<form>
7 3 5L <input type="text" maxlength="10" size="10" id="n1">
<p id="dd"><p>
i %+ + 5. <input type="text" maxlength="4" size="4" id="n2">-
<input type = "text" maxlength="4" size="4" id="n3">-
<input type = "text" maxlength="4" size="4" id="n4">
<p id="cc" ><p>
+ %5 75 <input type="text" maxlength="10" size="10" id="tel">
<p id="tt"><p>
<input type="button" value="Submit" onClick="check()">

</form>

<script>

function check(){
var regex1 = /"[A-Z][0-9]1{9}$/;
var regex2 = /7[0-9]{4}$/;
var regex3 = /~[0][9][0-9]{8} $/;

var ¢l = document.getElementByld("n1").value;
var ¢2 = document.getElementByld("n2").value;
var ¢3 = document.getElementByld("n3").value;
var ¢4 = document.getElementByld("n4").value;

var t = document.getElementByld("tel").value;

£5F %S5E = BB % 2 B 2L https://www.public.com.tw




FERA (110 ¥ = fird )
document.getElementByld("dd").style.display="inline";

;}E%U‘_

document.getElementByld("cc").style.display="inline";
document.getElementBylId("tt").style.display="inline";

if(regex1.test(cl) == false){
document.getElementByld("dd").innerHTML = "’j—ﬁgﬂ
telsed
document.getElementByld("dd").innerHTML = "OK";

m‘E/’é’\ \:B—’:f‘ %ﬂbu 5

if(regex2.test(c2) == false || regex2.test(c3) ==
document.getElementByld("cc").innerHTML = "3 ﬁga]
telsed
document.getElementByld("cc").innerHTML = "OK";

false || regex2.test(c4) == false){
I FE et i B

if(regex3.test(t) == false){
document.getElementByld("tt").innerHTML = "% @‘J
telsed
document.getElementByld("tt").innerHTML = "OK";

FEehE A"

}

</script>
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